INDEX

GENERAL NOTES:

SHEET NO.

SUBJECT

Railing, PF-1 and PS-1 Index and General Notes

Railing, PF-1 Elevation, Section, and Rail End Detail

Railing, PS-1 Elevation, Section, and Rail End Detail

Railing, PF-1 and PS-1, Steel Tube and Rail Splice Details

[ A WIN| =

Railing, PF-1 and PS-1 Base Plate and Reinforcing Bar Bending Details

1. Intermediate railing splices shall be placed every 20 ft.

2. All chamfered edges shall be 3/4 in.

3. All reinforcing bars designated E shall be epoxy coated.

INDIANA DEPARTMENT OF TRANSPORTATION

RAILING, PF-1 AND PS-1
INDEX AND GENERAL NOTES

SEPTEMBER 2019

STANDARD DRAWING NO. E 706-BRPP-01

-:.d \ STATE OF
‘% /e
'FS IDLM*“"
fGWAL r,:_ o
| "

;’«._ 4@%&/@ 5/2/2019

DE GN TANDARDS ENGINEER DATE

rb‘\:, f"—‘—‘ 6/5/2019

CHIEF ENGINEER DATE




Pay Limits for Steel Railing, PF-1

Pay Limits for Concrete Railing, PF-1

20'-0" Intermediate Rail Splice

4-31/2" e, 68" 18! , 6'-8" maximum . TS4x3Ix1/4 o] 4312
I N = .

| Rail Post (typ.) | . Post Spacing (typ.) i / Rail i
] ] | ] ] ] |

_ e e o o O ) ) [+ <1 ) ) [ | | I e o o o

o 17 | | | | | | (

- | —— — - — - — -} T ‘!' ? T T / ‘!' ? - - S - )
[ [ [ | [

2!_0"

~—End of Bridge

Top of Deck—\

Rail Splice Point

TS2x2x1/4 Ra|IJ

Rail Splice Point

e

End of Bridge —|

Top of Deck\

7

P1/8x41/2x41/2

Pay Limits for
Steel Railing
PF-1

1I_6"

TS4x3x1/4
T52x2x1/4—\_\
\ %

See Rail End Details

1/16 All Sides

3/4" @ x 8" Roundhead
Bolt with Hex Nut and
Washer in 7/8" @ Hole

TS4x4x3/16 x 1'-5 1/4"

5/8" @ x 7" Roundhead Bolt
with Hex Nut and Washer in
3/4" @ Hole

Base Plate

5/8" @ x 1'-1" Bolt, with Hex

5 Nut and Hardended Steel
- L—" Washer, Minimum 10"

5E ‘ | Embedment in Concrete (typ.)

ot o

82| - | % | 4rT——4703E @ 8"

Egu| 2

Soa| ~ R | o 8 - #4E

%g n

ag 5 - 11/2" cl. (typ.)

VL | ] ==
Ay
} ~—~
0" I
+ | 6
= 4707E @ 8"
TYPICAL SECTION

QUANTITIES FOR ONE RUNNING
FOOT OF RAILING

Concrete, class C 1.66 CFT

Reinforcing bars* 17.0 LBS

* Wt. of reinforcing bars doesn't include allowance for splices in longitudinal bars

End of Bridge

e

ELEVATION
A 4-3 1/2" N
1|_0u | 8ll ! 6ll ! 6ll ! 6ll ! 1|_1 1/2" N /
41 QU ] <
i ~ ~ ~
(typ.)

PLAN VIEW OF TS4 X3 X 1/4

3'-111/2"

\ : See Rail End Details

NOTES:

1. PF-1 railing is acceptable as MASH Test Level 3.

@ Concrete Bridge Railing Transition, TPF-1. See Standard Drawing

series E 706-TTPP for details.

3/4 in. diameter x 11 1/2 in. round-head bolt in 7/8 in. diameter hole.
Hole shall be slotted as required for expansion.

@ 5/8 in. diameter x 10 1/2 in. round-head bolt in 3/4 in. hole. Hole shall

End of Bridge

be slotted as required for expansion.

Construction Joint Type A. See Standard Drawing E 702-CJTA-01 for
details.

8" | 8"

! 6" ! 6" ! 6" !

1'-11/2"

INDIANA DEPARTMENT OF TRANSPORTATION

/ ¢

4-‘\- C\a\t

(typ.)

PLAN VIEW OF TS 2 X2 X 1/4

RAIL END DETAILS

RAILING, PF-1
ELEVATION, SECTION, AND RAIL END DETAIL

SEPTEMBER 2019

STANDARD DRAWING NO. E 706-BRPP-02

s it Ty
& <;, f’( 24 N[ L )
B "»“‘“”% o % : i | 5/2/2019
- 3 No. \ "'_ DESIGN STANDARDS ENGINEER DATE
110200124 | =
E -"; \ STATE OF I.;; =
2%, :
{o\r._mﬂp,f{;r:‘:i r:“»*rg ‘"‘\f"—‘-‘ = §/5/2019
“ “5 G‘NAL ?ﬁ CHIEF ENGINEER DATE




Pay Limits for Steel Railing, PS-1

Pay Limits for Concrete Railing, PS-1

20'-0" Intermediate Rail Splice

* Concrete colume based on an assumed 3'-3" total parapet height. Actual quantity will vary based on plan parapet height.

** Wt. of reinforcing bars doesn't include allowance for splices in longitudinal bars

- 4!_3 1/2" _ 1"6:|‘ 6|_8|| VI 1|_8|| I 6'_8" max|mum I TS 4 X 3 X 1/4 1I_8Il 4|_3 1/2"
. : . Post Spacin . Rail .
, Rail Post (typ.) , . pacing (typ.) | / al :
- e © © o ) | ',/ [ - 10, (& - ( e © o o
(s}
= | —— - — - —- -} - N — - )
) ~—End of Bridge o TS2x2x1/4 Rail/ S << Endof Bridge ——
~ /—Top of Sidewalk Rail Splice Point Rail Splice Point Top of Sidewalk—\
7 \ Top of Deck— Top of Deck ~ See Rail End Details
See Rail End Details
ELEVATION
1/8x41/2x41/2 ;
R1/ / / 1716171 Al Sides
4'-31/2" ;
TS4x3x 1/4 3/4u g x 8" Roundhead —- - End of Br|dge
TS 2 X 2 X 1/4 BOlt Wlth HeX NUt and 1 " n &l n o n 'l*ll n &l 1 "
\ Washer in 7/8" @ Hole o0t 8 g 6" g 6" oy 6" oy 11172 / NOTES:
[ 1 Iy il il il il
5 I\ = Bl TS 4 x4 x3/16 x 1'-5 1/4" ‘ il il i i
”3;‘_? ] < T — -ii _____ 'i'i"-—“—:T'i _____ -H _____ 1____4 _______ _8 1. PS-1 railing is acceptable as MASH Test Level 3.
Eg‘f o @ 5/8" @ x 7" Roundhead Bolt A il I I il
jaﬁ = _ with Hex Nut and Washer in [ === === S — @ Concrete Bridge Railing Transition, TPS-1. See Standard Drawing
B3 _ 3/4" @ Hole ! ! ! ! series E 706-TTPP for details.
N
| ) _ 5 X Base Plate (wp.lz’LAN VIEW OF TS 4 X 3 X 1/4 @ 3/4 in. diameter x 11 1/2 in. round-head bolt in 7/8 in. diameter hole.
?-’ | I MT_ %:__Llc 5/8" @ x 1'-1" Bolt, with Hex Hole shall be slotted as required for expansion.
(32} 1ol
o E N —+— Nutand Ha_rt_jended S:’lceel 5/8 in. diameter x 10 1/2 in. round-head bolt in 3/4 in. diameter hole.
oy ] Washer, Minimum 10 Hole shall be slotted as required for expansion
s S| % 4 4 Embedment in Concrete (typ.) 0 qu P .
ELWh I
S . .
%. ch a b |l L1127 . typ) B 3-11 1/2" R /»End of Bridge @ CIC:;)tnas”t;ucuon Joint Type A. See Standard Drawing E 702-CJTA-01 for
a O _ n n
8 ‘. " okes O " INDIANA DEPARTMENT OF TRANSPORTATION
Slope , D od—10- #4E 8" 8 _w 6" w 6" w 6" w 1-11/2 /
ili il ili il
Concrete Sidewalk S | 2" ].l 3" (max.) at Face e Cut ‘ E‘E E‘E E‘E E‘E 8 RA]:I—:[N(;I PS-]'
> , Vil | o = | of Parapet %’.’.'_'_'_'_'_'_:4}'_'_'_'_'_@'_'_'_'_@'_'_'_'_'_’ L'_'_'_'_'_'_'_'_'_'_'_'_'_'_I'_'_'_'_'_'_'_'_ ELEVATION, SECTION, AND RAIL END DETAIL
M | | | |
Bridge Slab + ~ 10" ' ' ' ' SEPTEMBER 2019
J —(5) (typ.)
S—+ STANDARD DRAWING NO E 706-BRPP-03
S N PLAN VIEW OF TS 2 X 2 X 1/4 :
= 4705E @ 8" vl
RAIL END DETAILS % \.; P“ [/
TYPICAL SECTION S G_%HQ{ _ , A((C
Sy e ;i : 5/29/2019
QUANTITIES FOR ONE RUNNING = :," No. " = | DEYIGN 5TANDARDS ENGINEER DATE
FOOT OF RAILING c ’_—; | 10200124 | a = |
RN STATEOF -
Concrete, class C* 2.30 CFT = 'g, /é,v 3 -
a_(f . y 3 __:I _\ ]
Reinforcing bars** 19.6 LBS {b} 'D"""ﬂp\&ﬂ‘;’ "\j 6/5/2019
DWAL CHIEF ENGINEER DATE




TS 4 x 3 x 1/4 Rail
Element

1/2" @ Hole (typ.)

Inner Sleeve for

TS4x3x1/4
3/8" @ x 4" ¢ Splice
Roundhead Bolt (typ.) A<=—
| \ é/
- _@_ - /\. _/\ - - - - - - <>
I 1/2||
- 2Il e 4Il e 4Il 4.i ‘< 10" A é _
- 1'-8" -
SPLICE ASSEMBLY
FORTS 4 X 3 X 1/4 RAIL
3/8" @ Hole (typ.)
TS 2 x 2 x 1/4 Rail
Element Inner Sleeve for
1/4" @ x 3" Roundhead C Splice TS2x2x1/4
Bolt (typ.) B -=—
e NS
4 1/2||
2 4 4 10" B=—
B 1[_8" o
SPLICE ASSEMBLY

FOR TS 2 X2 X 1/4 RAIL

3"

1/4"

4"
31/2"

21/2"

1S4x3x1/4

b

TS2x2x1/4

P 3/8"x11/2"x1'-8"
(Top and Bottom)

R 3/8"x 2 1/2" x 1'-8"/K

(Both Sides)

N
]
¥
i i
o™ (q\]
R

/|
21/4"

INNER SLEEVE FOR

TS4x3x1/4

R 1/4" x 3/4" x 1'-8" (typ.)

(typ-)m
e\

o4
11/4

11/4"

-

INNER SLEEVE FOR

TS2x2x1/4

1/2" @ x Holes
in Outer Tube

3/8" x 4" Roundhead
Bolt with Flat Washer

(

%

7 I

~

1/2" @ Holes in
Inner Sleeve

SRS

o —— N

4

&z

NN

L

7

J

SECTION A-A

3/8" @ x Holes
in Outer Tube

1/4" x 3" Roundhead
Bolt with Flat Washer

3/8" @ Holes
% = in Inner
7 é\\\\\ ;:—4 Sleeve
%‘_\ — ] S
\
74
SECTION B-B

INDIANA DEPARTMENT OF TRANSPORTATION

RAILING, PF-1 AND PS-1
STEEL TUBE AND RAIL SPLICE DETAILS

SEPTEMBER 2019

STANDARD DRAWING NO.

E 706-BRPP-04

= Ly

R IRN]

\.\‘u. Pﬁf
q,/,{,:—!‘-’.'!.f@.

: 1020&124 |

STATE OF / I'q
\ .mmﬂ"
‘\'\'\:"\

"E?NAL
| (R

c:-‘ﬂd_"_i f

Lf"»

DES’r’IGN TANDARDS ENGII\IEER DATE
":s. |: 6/5/2019
CHIEF ENGINEER DATE




21/16"

7/8" @ x11/8"
Slotted Hole for
Rail Alignment (typ.)

1/4 7 ~

TS4Xx4x3/16—_|

1"@ Hole for __—]

Galvanizing

61/2"
91/2
(Traffic Side)

R 3/4x91/2x8 1/2/

BASE PLATE DETAIL

3-0" (4705E)
2'-4" (4707E)

1l_6|l

4705E x 4'-6"
4707E x 3'-10"

11/2"

1'_8"

4703E x 3'-11"

NOTES:

1. See Standard Drawing E 703-BRST-01 for reinforcing-bar bending
details and notes.

INDIANA DEPARTMENT OF TRANSPORTATION

RAILING, PF-1 and PS-1
BASE PLATE AND REINFORCING BAR
BENDING DETAILS

SEPTEMBER 2019

STANDARD DRAWING NO. E 706-BRPP-05

_,,-Hlll'“l__
'\\l.. . W, . ";__,‘__
%Q\:J-"ﬁf ;ﬂ‘-’ ¢« 7@& >
SN/E R,G 2 5/2/2019
i . un -_

] { No ! DE IGN STANDARDS ENGINEER DATE
- %[ 10200124 |,
TR\ STATEOF
- G "u
4;0\\ _mﬂ.\/ Ds :f"-——r 6/5/2019

éfﬂ"‘#AL r':' CHIEF ENGINEER DATE

Wt
|||||||||




	706-BRPP
	706-BRPP
	706-BRPP
	706-BRPP
	706-BRPP



